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1. __ youhavetodo isto keep silent.
(A) All that (B) All what (C) What that (D) The only which
2. Everyone may make mistakes, and asaint
(A) has no exception  (B) is no exception (C) takes no exception (D) with no exception
3. yougo, I will follow you.
(A) No matter (B) Wherever (C) What (D) Where
4. Human beings are social animals,and
(A)so Il am (B)asldo (C)soam | (D)asdo |
5.  Friendship is to human beings _ water is to all creatures. It is indispensible.
(A) so (B) like (C) that (D) what
6. Itwas Columbus  discovered America for Europeans in 1492.
(A) whom (B) what (©)to (D) that
7. ___ thatthe singer has got divorced.
(A) Itis said (B) People tell (C) Itis reporting (D) Everyone speaks
8. __ rusteatsiron, __ care eats the heart.
(A) So; as (B) As; so (C) Like; that (D) For; so
9. It’shightimewe  crops.
(A) harvested (B) will harvest (C) have harvested (D) harvest
10. Beesare _ totalk to each other.
(A) impossible (B) possible (C) unlikely (D) likely
11. He would be much stronger now if he _ the doctor’s advice.
(A) had taken (B) have taken (C) would have taken (D) takes
12. Asthe proverb goes, “_ there is a will, there is a way.”
(A) That (B) Only (C) Where (D) Unless
13. Ourwishisthathe _ me now.
(A) left (B) would leave (C) leaves (D) leave
14. The actor is sixty years old. But he actsas if he __ a young man.
(A)is (B) were (C) had been (D) would be

for the hare.

(A) waited (B) waiting (C) was waiting

16. IfBob__ with us, he would have had a good time.
(A) would come (B) would have come  (C) came

17. Only with his teacher’s encouragement __ overcome the difficulties.
(A) heis (B) is he (C) he can

18. The government demands that something ___ to get rid of air pollution.
(A) would be done (B) is done (C) be done

19. Notuntilitstartedtorain ___ find myumbrella

(A) I found; missing (B) did I find; missing (C) I found; missed

15. Once upon a time, there was a farmer who didn’t cultivate his land, but sat under the tree

(D) have waited

(D) had come

(D) can he

(D) will do

(D) did I find; missed



20. Choose the INCORRECT sentence.
(A) It’s impossible for the farmer to have an abundant harvest.
(B) It’s unlikely that the farmer will have an abundant harvest.
(C) The farmer is unlikely to have an abundant harvest.
(D) The farmer is impossible to have an abundant harvest.
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1.  With the development of industry and economic , many pollution problems have
a in the world. ([FE — 3 AV 3Tl = A2y > R R 2 )
2. Among all the types of pollution, global warming has become one of the most serious problems.

a terrible thing it is!
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3. our surprise, global warming has b great changes in
climate around the world during the past few years.
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4. However, scientists think that we can p global warming from getting worse as long as
we the of carbon dioxide.
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5.  After all, we have only one Earth. The importance of protection cannot be _
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6. Most doctors that everyone regular exercise.
(NP VIR E R [ ™ i B SR

7. Ifit not for regular exercise, a person would easily get tired and wrecked
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8. If we take in group sports, then it can not only our muscles but also
promote friendship. (¥ 175 fFﬁ%&?[&“ﬂ?ﬁ‘iﬁ_@ﬁ ) @éﬂ EJF’J“:@@ R = s BTy 2

9. When exercising, we sweat a lot, which can s the circulation of blood.
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10. who like to exercise tend to have good health and long lives.
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